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¢ int main(void)
{
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return O; BECHEL
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TR 10+3=13
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#include <stdio.h>

int main(void)

{

int a, b;

a=123;
b=axa;

printf("%d0 20 0 0%d0 0 O \n”,a, b);

return 0;

}
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#include <stdio.h>

int main(void)

{

int a, b;

scanf ("%d” ,&a);

b=axa;
printf ("%d0 200 0%d0 00 \n”,a, b);

return 0;
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double fuga;
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scanf ("}1f",&fuga) ;
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#include <stdio.h>

int main(void)

{

int h, m, s, total_sec;

printf(?00000000000\t”);
scanf ("%d” ,&h);

printf (?O000000000\t”);
scanf ("%d” ,&m);

printf(?0000000000\t”);
scanf ("%d” ,&s);

total_sec = 3600xh+60xm+ts ;
printf (?’00000%d0 0 OO0 \n”,total_sec);

return 0;

}
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#include <stdio.h>

int main(void)

{
double I, V, R, P;

printf(?00000000000\t”);
scanf ("%1f”,&1);

printf (?O0000000000N\t”);
scanf ("%1{”,&V);

R=V/1;
P=IxV;

printf (?0000%f0

O )
printf (?0000%f0 O

00 00\n",R);
0000\n”,P);

n-,

return 0;
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